Find the coordinates of the common point between
the following circle and straight line.

x> 'y 10 'y 2x 5
2 X 5
equation of circle substitute
x> (2x 5) 10
x> 4 x> 20x 25 10
5 20X 15 O
x> 4x 30
(x 1)(x 3) o
X 1,3
X 1 y 2x1 5 3
X 3 y 2x2 5 1
(1. 3).(3.1)
x> y> 10 y 3x 10
X y* 10y Xx 2

Find the number of common points between
the following circles and straight lines.
0 = 2
ax’ bx c 0
D 0 = 1
D b®> 4ac
D 0 = 0
x> 'y 10 y Xx 6
X 6
equation of circle substitute
2
x> (x 6) 10
2 2
X X 12 X 36 10
2 x> 12x 26 0
x2 6x 13 0
2 D
Discriminant of this quadratic equation

D 62

4 x1 x13 16 0

x> 'y 10 y x 5
X2 y2 10 vy 3x 10
x> 'y 10 'y 2x 6







x> y* 20 y 3x 10
y 3x 10

¥ (3x 100 20

x> 9x*> 60x 100 20
10x> 60X 80 O

X 6X 8 0

(x 2)(x 4) o

X 2,4
X 2 y 2x1 5
X 4 y 2x2 5 1
(2, 4).(a,2)

X y> 20 y 2x 10
X y* 20y X 2

ax> bx ¢ 0 0 -
D 0 =
2
D b* 4ac b 0 -
x> y> 20 y X 6
y X 6
x> (x 6) 20
x? x*> 12x 36 20
2x> 12x 16 O
x> 6x 8 0
2 D
D 6% 4x1x8 4 0
2
x> y> 20 y x 8
x2 y> 20 y 3x 10
x2 y> 20 y 2x 10




Yy r X 2y 5 0
r (4,2), x¥* y* 10
y>  r? Pp.q) P
X 2y 5 0 d p> > 10
5 | 5 - P pX qy 10
7 2 V5 (4.2) 4p 2q 10
r d q 2p 5
B p.q
y2  r? X 3y 10 0 p22( 2p ) 10
i 5p2 20p 15 O
p> 4p 3 (p 1)(p 3) o
p 1,3
1 3
3 1
(1,3) X 3y 10
3, 1) , 3X 10
(3, 1), ¥* y* 5
P

y> 5,P(2,1)

1xy 5 2x 'y 5

y? 25,P(3,4)




x>y or? 3x 2y 13 0
r
X2 y2 r2
X 2y 5 0 d

13 13
d I I V13

22 3 V13

r d
r V13
x> y? or? 3Xx 4y 10 O
r

P
x> y* 10,P(1,3)
I1xx 3xy 10 x 3y 10
x> y* 13,P(3,2)
x> y* 4,P(2,0)
2xx Oxy 4 X 2
x> y* 9,P(3,0)
x 1% (y 2? 10,P(2,1)
(2 1x(x 1) (1 2x(y 2 10

3Xx 'y b
x 22 (y 2? 5,A3,1)

(1,7), x¥* y* 25
Ap.q) P
p> o> 25
P PpX qy 25
(1,7) P 79 25
P 79 25
P.dq
( 79 25)> ¢* 25
5002 350 600 O
9 7q9 12 (q 3)(g 4) o
q 3.4
3 p 4
4 3
(3,4) 3X 4y 25
(4, 3) 4Xx 3y 25
(1,5), x¥* y? 13




x> y? or? 2Xx 'y 10
r
X2 y2 r2
2Xx 'y 10 0 d
| 10] 10
d 25
12 22 V5
r d
r 25
x> y? or? 4x 3y 25 0
r
P

x> y* 10,P(3,1)
I3xx 1xy 10 3x y 10

x> y* 13,P(2,3)

x> y> 8,P(2, 2)
2xx ( 2xy 8 X y

x> y*> 18,P(3, 3)

x 1% ( 2 5,A1, 1)
1 xx 1) (1 2x(y 2

(7, 1), x* y*> 25
Ap.q) P
p> o> 25
P PpX qy 25
(7, 1) 7p g 25
q 7p 25
P.dq
p> (7p 25) 25
50p> 350p 600 O
p° 7p 12 (p 3)(p 4) O
p 3,4
3 4
4 3
(3, 4) 3Xx 4y 25
(4, 3) 4x 3y 25
(6, 2), x> y*> 20




